
#11-118, 11-486, 11-657, 11-658
Model C & Model R Masonry Guides

PL11118 9/07

All fittings and base units sold complete with fasteners.
Order by Part Number.

11-122

11-121

11-120

11-123

11-124

Part# Detail Qty/Unit

50-108 Model C (with brick scales) Pole Part Only 1
50-109 Model R (without brick scales) Pole Part Only 1

11-119 Top Sliding Attachment for Inside or Outside

Fitting - Complete

Includes:
52-301 Thumb Screws 2” x 3/8” 2
52-261 Wing Nuts 3/8” 2

11-120 Outside Corner Top Fitting - Complete

Includes:
52-900 3/8” Carriage Bolt Assembly

Assembly Includes:
52-406 Carriage Bolt 1 1/4” x 3/8” 1
52-103 Washer 3/8” 1
52-261 Wing Nut 3/8” 1

11-121 Inside/Intermediate Top Fitting - Complete

Includes:
52-900 3/8” Carriage Bolt Assembly

(Replacement Parts: See Outside Corner Top Fitting)

11-122 Outside Corner Base - Complete

Includes:
52-302 Thumb Screws 1” x 3/8” 4

11-123 Inside/Intermediate Base - Complete

Includes:
52-302 Thumb Screws 1” x 3/8” 4
11-495 Double Head Nails 8” 2
11-142 Wall Clip Assembly 2

(See Telescoping Brace Parts List PL11131
for Wall Clip Parts Break Down)

11-124 Inside/Intermediate Line Holder

Parts ListInside Corner Outside Corner

Model C #11-658 #11--118

Model R #11-657 #11-486

11-119

Model R

Model C

Model C is
permanently marked
with both modular
and standard brick
scales.

11-124

Attach inside line
holder at any inside or
intermediate position.

50-108
50-109

11-120
or

11-121

11-120
or

11-121

11-119

11-119

11-122
or

11-123
11-122

or
11-123

with brick scales

without brick scales

4430 Gibsonia Rd. • Gibsonia, PA 15044 • USA • www.bontool.com

Order by Part Number
Toll Free Order Hotline

800-444-7060


